ST 145y i = X 15
i KET A4 . SR FIatigE
e R ks @ A o w4 [P PEEERTIBEITOGES
VY = w0 | Lile e o 6.%’@ 64 - -
&S T iz R AESE — | BRER | IhMY HYE LR LY - -
AT {L A X
1 PR
(1) e, PEEEE et 2 37 | | | —
(2)  _ERELASR O HuEL —il %E 36— — - -
2 RSO
(1) Hfem, PR 50 | Lol 3gf 48 | | | -
(2) kLA 50 LO|H 39 47 — — — —
5| TR ALK — | BRAR | PME bbYE bW beWE | -
TR AR X g
1 FH R —l 1T o199 | | | —
2 hFEBA DK
(1) #LFF, WLE 5 | 1.1 —| o 17 - —
(2) R, ik, &3P 50 | 1.1 — 108 100 —| —
(3 #®II, B, LA 50 | L1|F 29 258 9.6 9.6 00— —
@) EEiSiA o HL 50 | 1.1|# 28+ 358 9.50 9.5  — -
| RASRET EE807 — | BEAR | EeTH LEYE ROTH O LRYE - -
/NETHRT AL X — | B | LbME MR MR phTE - -
T LR I
1 B
(1) #rHE, i, S — o4l 37— - — -
(2)  _LEELASh D HEL —| %E s - - - -
2 LELRAA ORI
(1) HrHE, #Hih, JH 50 1O 38 48 - - - -
(2)  EFELSOHI 50 | LO|b agb 49 - - - -
riEsE1~4TH gseizh — | BRAR| LB LkYE b pLIE - -
Z| A AT b XIS — | BRER | Lhif| b i bkl | -




ST 145y i = X °H
i KET A4 . SR FIatigE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
7| A AT LR
1 dbl, RB/INER 50 | LO|f 35 @ —jE 13EE 13— —
2 HE, g 50 | 1.0 —IH 5l 8.1[: g ) -
3 RE, duilem, R, #HE 50 | 1.0 — i 8.3 8.3 | —
4 L, ¥R, B, el 50 | 1.0 - 8.2[: i B
5 LFELIA o M 50 | 1.0 —| 8.3rﬁa B I
Entd:s kR lAES — | BRER | Phif| phiE ped bl | -
AT AR X g
1 R
(1) k4 i o1t 31 | | | —
(20 EREstoHR — 15E P e
2 LRSS ORI
(1) b4 50 | LolF 28 3¢ 0~ - - -
(2) KAKRE, F/A, $ARKE 50 | LO|F 25k 34 - —| —| -
(3) —F#H|, bk, =FHK, —FH |50 | 1.0 - i 11 — —
(4)  ERESASDHIEL 5 | 1.0 — e 11— —
U EEN e, B, WM, WL, HEE, HE, 40 | LO|F 29 19 — —
FIfE, PR
g, A 40 | 1.0 — w39 | —
e ER, Mies 40 | 1.0 — w55 0 —|  —
il 40 | 1.0 — 91— —
ERLLASR D i 40 | 1.0 — .offi 6.5  — —
B 2 HE R
1 kv a (R#) , BB, &, —f5ti 9. i 180 |~ —| -
s/, A, Mo
2 _EERLSh 1T 28 | | | —
ERELA o K IE
1 *EE/LMJIIT, JIEv®, B/ #%, 40 | L1 27F 37D 14E 14— —
= ./ Hi




SF0 145 i = X 3E
HXATF 4 . AT FIRBBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
L Al 2 B, @&, SN, Hil, 40% 1.1% 1{;’@’@ 13 -
A,
3 A, faR, AL 40 | 1.1 1458 14) -
4 FERLSS O MR 40 | 1.1 1456 14 —
FRE et — | BB [Pk s -
4 BRI KW, THE, W/x, B/, WA, 30 | L1 130 13 -
AH, BIFT, #BE
LIS O Hi 30 | L1 14t 14
T| XH1~3TH Eaeir — | B [Eati < e
Fe1~3TH Eeei — | B [Pkl s e
&| #iE e A% — | Bk bei pRiE
TR AR X g
1 ke, I 50 | 1.1 ol i 6. 5ififi 6. 5
2 W, #i, WEA 50 | 1.1 &l 17§ 17 —
3 Wi 50 | 1.1 aa w11 -
4 jb, BB, R, B/ L R, 50 | .1 4330 8. 3l 8. 3 -
HEED
5 LFELUSh o 50 | 1.1 106 10
72| BRERT 1 ~5TH [ — | Bk et =i
7 2R Eoei 30 | 1.1 #ll 5. 2l 5. 2
I SEHL Ecei 30 | 1.1 ot 8. 4l 8. 4
B WAL ~4THE |2 — | B ttiér Feic
pRE S Esetr — | B [Pt
N BRET Eoei — | B |7k i
HEI 2 b IR -] - -
ERLLASR O X 30 | 1.1 fi 7.0l 7.0 -
FREL~4TH |2 — | B tti’ér be7E -
TREFHT TRk I — | B J=uti s i —
T LT DX 50 | 1.1 it 180l 18 -
HEH1~3TH e — | B3R J:EYEFI:E?% —




1.
YN

ST 145y g R R 4H
i KET A4 . SR FIatigE
R I B B B S B =y i TSt v
| AR SET [ikcaklaES: —% E%ﬁp ttzf; tti”g tté ttiél i
A% I
1 EAH#RER
(1) K&, KXiE XET, dbh, EHE, — 16wl 29 0 — — — —
Fa A
(2) —HTH, TFH, &7, % AK —t 18 300 - —| - -
(3) TEHMBHL, FEERIR, RESHL, HERR —fill 31E: 31 — — - —
2 LRSS ORI
(1) K&, K% KHT, JbP9, BEE, |50 | L.L|F 29 40 — — - -
fA
(20 =46, —HTE, A, HFM, BA, [50 | L1|F 308 40 0~ - - —
N, AK
(3) VHRRES, PEEEIR, SRBEL, EER (50 | LO|F 33F 42 - - - -
(4)  _RECLASh D HLER 50 | L0 38 428 108 10 0 —|  —
AN BAERT1 ~4TH it — | BRAR | k¥ Lk kl:ﬁrmtti”é - -
<o %2 HET [k (A% — | B | PhME phWE e peTH O |
AL X
1 JREH Hh KO —t ol 37 | —|  —|  —
2 RRES X 50 | LO|P 37 48 | | | —
2| 7S Hu [iskeaR (A= — | BRER | b b HeH bedy | —
AT LA 50 | 1L.O|H 25 56 | @ — - =




